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first two parts of the question was generally well done. Most students had dlfﬁculty Wlth part
(c) in deriving the condition for actuator stability over the entire operating gap.
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o . Most parts of this
question were generally well done but some students had difficulties explammg the bandwidth-

cancitivritxr trade_aff in nart (o)
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| It was also generally =~~~
well done. Some students had difficulties with formulating the design criteria for good

electrophoretic separation in (d).
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Most students who attempted this question had
difficulties with parts (a) and (d). Some students appeared to have attempted this question last
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